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Here are the subject specific instructions for this question paper

Use the following indicative content mark scheme in conjunction with the generic levels of response in the Appendix
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MARK SCHEME Section A

Question Answer/Indicative content Mark Guidance
1 Using these four sources in their historical context, 30 ¢ No set answer is expected.
assess how far they support the view that the attempt e At Level 5 and above there will be judgement about the
to exclude Mary Tudor from the throne in 1553 was a issue in the question.

serious threat to the Tudor dynasty.

To be valid judgements they must be supported by
accurate and relevant material.

e In discussing how Source A does or does not At Level 4 and below, answers may be simply a list of

support the view, answers might refer to the - which sources support or challenge the view in the

content of the letter from the Privy Council, which question.

states that not only did Parliament view her as « Knowledge must not be credited in isolation, it should

illegitimate, but that she was excluded by old laws only be credited where it is used to analyse and

and letters of the late King. evaluate the sources, in line with the descriptions in
¢ In discussing the provenance of Source A, the levels mark scheme.

answers might consider that the Privy Council was
attempting to justify its actions in excluding her from
the succession.

e In discussing the historical context of Source A,
answers might consider that it was written when
Mary had fled to East Anglia and was trying to raise
forces.

e In discussing how Source B does not support
the view, answers might refer to it commenting on
the number who supported Mary because she was
the rightful queen and the number who disliked
Northumberland

¢ In discussing the provenance of Source B,
answers might consider that the author is unknown;
however, it was used in a later book by a Protestant
writer and might therefore argue that her triumph
was due to Northumberland’s reputation.

e In discussing the historical context of Source B,
answers might consider that many people,
regardless of their religious belief, welcomed Mary
as queen because of her rightful claim and that as a
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result the crisis was soon over

In discussing how Source C does not support
the view, answers might refer to the fact that a
Protestant supporter still backs Mary even though
he considers Catholicism to be wicked.

In discussing the provenance of Source C, that it
was written much later when he had no reason not
to give his opinion.

In discussing the historical context of Source C,
answers might refer to the number of Protestants
who supported Mary’s claim to the throne and those
on the Council who abandoned Northumberland
once he left London, suggesting that the chance of
unrest was less likely

In discussing how Source D does support the
view, answers might refer to the gathering of forces
by both sides, although it might also be noted that
Protestants in East Anglia supported her.

In discussing the provenance of Source D,
answers might refer to this being written by a
Protestant supporter, who wanted to show how
Mary tricked them by agreeing to no changes in
religion

In discussing the historical context of Source D,
answers might consider the difficulty
Northumberland had in gaining and retaining forces
despite increasing pay and how this might be due to
Mary agreeing to no religious innovation.
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2*

‘Henry VII’'s main aim in foreign affairs was to avoid
war.” How far do you agree?

In arguing that the main aim in foreign affairs was to
avoid war,
¢ Answers might consider the danger of warfare and
realization by Henry that it was risky as he had
gained the throne by war.

Answers might consider that warfare was costly
and given the state of finances it should be
avoided.

Answers might consider that he wanted to avoid
war with France because it was not only financially
stronger, but was also allied to Scotland.

Answers might consider that war would disrupt
trade, which was vital for improving England’s
financial position.

Answers might consider the Tudor concern with
dynastic security and that could threaten it.

In arguing that there were other factors that influenced

Henry’s foreign policy,

e Answers might consider the concern for dynastic
security given Henry’s weak claim to the throne
and the Yorkist threat from overseas.

Answers might consider Henry’s need for foreign
recognition given his weak claim to the throne,
hence marriage alliances.

Answers might consider the need for alliances
given the possibility of foreign invasion in support
of Yorkist claimants.

Answers might consider the need to secure the
northern border from Scottish attack, particularly
with French support, hence the marriage of
Margaret and the peace treaty with Scotland.

Answers might consider that Henry did not avoid

20

No set answer is expected.

At higher levels, candidates will focus on weighing up
what Henry’s aims were; but at Level 4, may simply
describe them.

At Level 5 and above there will be judgement as to
what Henry’s main aim was.

At higher Levels candidates might establish criteria
against which to judge the relative importance of the
aims.

To be valid judgements, claims must be supported by
relevant and accurate material. If not, they are
assertions.

Knowledge must not be credited in isolation, it should
only be credited where it is used as the basis for
analysis and evaluation, in line with the descriptions in
the levels mark scheme.
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war as he invaded France in 1492.

‘Wolsey’s domestic achievements were limited.” How
far do you agree?

In arguing that his domestic achievements were
limited,
e Answers might consider his failure to raise
sufficient money to fund Henry’s wars.
¢ Answers might consider the problem of his
relationship with Parliament which made it difficult
to raise money.

Answers might consider that he had to abandon
social legislation, as over enclosures, in order to
raise funds.

Answers might consider that his legal reforms
meant that courts were unable to manage the
volume of cases.

Answers might consider his inability to raise
money through the Amicable Grant.

Answers might consider that his Church reforms
were limited.

Answers might consider that his administrative
reforms did little to improve efficiency.

In arguing that his domestic achievements were not
limited
e Answers might consider the amount of money he
was able to raise.
e Answers might consider the introduction of the
Subsidy.
e Answers might consider that the increase in the
number of cases in the law courts was a success,
as justice was made more available to ordinary

20

No set answer is expected.

At higher levels, candidates will focus on weighing up
the extent of the achievement: but at level 4, may
simply describe what was achieved or not achieved.

At Level 5 and above there will be judgement as to the
extent of the achievement.

At higher Levels candidates might establish criteria
against which to judge the extent of the achievement.

To be valid judgements, claims must be supported by
relevant and accurate material. If not, they are
assertions.

Knowledge must not be credited in isolation, it should
only be credited where it is used as the basis for
analysis and evaluation, in line with descriptions in the
levels mark scheme.
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people.

¢ Answers might consider that social legislation
against enclosure was passed, despite opposition.

e Answers might consider the control that Wolsey
was able to exert over patronage.

¢ Answers might consider that his reforms were not
limited as he was able to satisfy the king and
remain in power.
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APPENDIX 1 — this contains the generic mark scheme grids.

AO2: Analyse and evaluate appropriate source materials, primary and/or contemporary to the period, within its historical context.
Generic mark scheme for Section A, Question 1: How far do the four sources support the view? [30]
Level 6 The answer has a very good focus on the question throughout. The sources are fully evaluated, using both provenance and detailed
26-30 and accurate knowledge of their historical context in a balanced way, in order to engage with the sources and reach a convincing,
marks fully supported analysis of them in relation to the issue in the question.
Level 5 The answer has a good focus on the question. The sources are evaluated, using both provenance and relevant knowledge of their
21-25 historical context, in order to engage with the sources and reach a supported analysis of them in relation to the issue in the question.
marks There may be some imbalance in the analysis between use of provenance and use of knowledge.
Level 4 The answer is mostly focused on the question. The sources are evaluated, using both provenance and generally relevant knowledge
16-20 of their historical context, in order to engage with the sources and produce an analysis of them in relation to the question. The use of
marks provenance may not be developed.
Level 3 The answer is partially focused on the question. There is partial evaluation of the sources, with use of some knowledge of their
11-15 historical context, in order to engage with the sources and produce a partial analysis of them in relation to the question.
marks
Level 2 The answer has only limited focus on the question. Evaluation of the sources is very general. There is limited use of generalised
6-10 knowledge of historical context to engage with the sources and produce a basic analysis of them in relation to the question.
marks
Level 1 This answer is on the wider topic area, but not on the detail of the question. The sources are evaluated in a very basic way, primarily
1-5 being used as a source of information with understanding of them being only partial. A very generalised knowledge of historical
marks context is used in a very limited way to engage with the sources and to attempt a very simple analysis of them in relation to the
guestion.
0 marks No evidence of understanding or reference to the sources.

10
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AO1: Demonstrate, organise and communicate knowledge and understanding to analyse and evaluate the key features related to the
periods studied, making substantiated judgements and exploring concepts, as relevant, of cause, consequence, change, continuity,
similarity, difference and significance.
Generic mark scheme for Section B, Questions 2 and 3: Essay [20]
Level 6 There is a consistent focus on the question throughout the answer. Accurate and detailed knowledge and understanding is
17-20 demonstrated throughout the answer and is consistently evaluated and analysed in order to reach substantiated, developed and
marks sustained judgements.
There is a well-developed and sustained line of reasoning which is coherent and logically structured. The information presented is
entirely relevant and substantiated.
Level 5 There is a mostly consistent focus on the question. Generally accurate and detailed knowledge and understanding is demonstrated
13-16 through most of the answer and is evaluated and analysed in order to reach substantiated judgements, but these are not consistently
marks well-developed.
There is a well-developed line of reasoning which is clear and logically structured. The information presented is relevant and in the
most part substantiated.
Level 4 The question is generally addressed. Generally accurate and sometimes detailed knowledge and understanding is demonstrated
10-12 through most of the answer with evaluation and some analysis, and this is used appropriately to support the judgements that are
marks made.
There is a line of reasoning presented with some structure. The information presented is in the most-part relevant and supported by
some evidence.
Level 3 The question is partially addressed. There is demonstration of some relevant knowledge and understanding, which is evaluated and
7-9 analysed in parts of the answer, but in places knowledge is imparted rather than being used. The analysis is appropriately linked to
marks the judgements made, though the way in which it supports the judgements may not always be made explicit.
The information has some relevance and is presented with limited structure. The information is supported by limited evidence.
Level 2 The focus is more on the topic than the specific demands of the question. Knowledge and understanding is limited and not well used,
4-6 with only limited evaluation and analysis, which is only sometimes linked appropriately to the judgements made.
marks The information has some relevance, but is communicated in an unstructured way. The information is supported by limited evidence
and the relationship to the evidence may not be clear.
Level 1 The answer relates to the topic but not the specific question. The answer contains only very limited relevant knowledge which is
1-3 evaluated and analysed in a very limited way. Judgements are unsupported and are not linked to analysis.
marks Relevant knowledge is limited, generalised and poorly used; attempts at argument are no more than assertion.
Information presented is basic and may be ambiguous or unstructured. The information is supported by limited evidence.
0 marks No evidence of understanding and no demonstration of any relevant knowledge.

11
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